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BIOLOGY

' GENERAL INSTRUCTIONS

Examinee is directed _”m_qumn.nmi.,c__”__. the following
. Instructions :

it i Fefeiften FTenr sam & v R R3Rm R amd :

- Examinee must write his/her Roll Number in the
specified box on the top left hand comer of this page.
Answers are required to. be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinea.

i

]

. Besides filling in the Roll Number, the examinee has .
to put higfher signature on the Answer-Sheet and also
flll other required detalls like Name, Roll Number,
Question Booklet code, elc. as indicated on the OMR
Answer Sheel, If these detalls are nat filled in by the
examinae, his/her Answer Sheet will not be evaluatsd.
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3. For eachquestion, there are four altarnative answers, .
out of which only one Is correct. Examinee must darken
the circle of correct option in the Answer Sheet by
Black Ball Pen only. =

4. There are 24 (20+4) pages In this Question-Booklet
including 1 page for General Instructions and four
blank pages for Rough ‘Work In the last. In case an
~ examinee recelves an incomplete or defective
Question Baoklet, he/she should make a raquest to
the Room invigilator to chénge the same within 10
minutes of start of the exam.

. This Question Booklet contains 50 questions from
following subject : ;
(1) Biology - QuNos. 1-50

6. Each question carries 1 mark and % mark will be
deducted for each wrong answer,

7. Possession and use of electronic devices such as
Caleulator, Cellular Phene, Digital Diary, Log Table,
Pager, elc., are restricted during the examination,

8. Any leaf from the Question Booklet should not be
detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.

. During examination the examinee will riot be allowed
lo leave the examination hall till the END of the
Examination.
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1. il s srpai v 1 & 9w SR w Ry
T2 it 7 SRR W I e i AR,
FIR-TF T3 T8, S ol A g s w g
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2. ITHYIF WA 5 STEET, GO I T T ST G
Sfea FEn M WY i o s REo 48 -, <
AT, T-IFRRT e fentt F wen g
... 3 e e v 81 af e Rt ) et >
3 71 0 & I - i T R

3. 7% I & i, AR Rm aw R R f, Rei A dwa s
B w8 e = e v 9t W A 390 01 O o
Treea 9t viie B wren e )

4. v8 V-3 § 24 (2044) 72 § fored o Bl & o
R 1 9% oK 3ifte 1 w3 R el /e e S
wiftrer 81 s fseh temd] ) syt an el -y
P & 3 38 et g 8% 3 10 e 3 v et 5 g,
TS i § sz w

5. ¥4 w1 -gfersn # fr=fiRea R @ 50 v it 8
(1) Sfaams

6. TF W TH I T v et e i & g 1 s ERT
W

7. vl & A g el R Sempis, S $
W, Rfree 2, v e, Y R 9 ol vmrEatk <
Iy wieEm 8

8. wei-TfRv # wf ot 53 avem ot ) e & AR
yH-gfem s sm-mw s S faw w din §

b Lok | 1-—50

9. wlten & 3, sl ) e & s o T R S
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1. Zoospore is a 1. =i Sfamy (FF9R) T
A) haploid non flagellated spores A) 3TfTa SrRETETa STy
B} haploid flagellated male gametes B) ﬁd@ﬂ%ﬂ.nﬂ.mﬂ_ﬂmﬂ
C) ¥t Hrer Iwen

D) 3mfor semera sia

C) haploid female gamete

2. Thellist of agents of pollination and the
technical words used to describe the
pollinationiare, given below. Identify the

2. ST & il qur g iy gvh soEe
qif® el & gt fF T R | = @ ud

correct pair. mwﬂ;m,mﬁ q

A)Malacophilly. Pollination by snails A) Beeifell g T

B) Entomophilly Pollination by birds B) wemthedt weft T

C) Omithophilly. Pollination by winds | - C) 3iffeifeh  amg wrm

D) Anemophilly ﬁa__mmmmo:awm:_:._m_m " D) Timifeett  sfer s

3. Which of the statements is correct ? 3. T 4 FH @ aee W 7

A} cleistogamous flowers always A) FHAREHE BT FeT @Y M @5y

exhibits autogamy ity &

B) chasmogamous flowers always
exhibit geitonogamy

B) 3=fic wemoft Tt FoRwh e &

C) cleistogamaus flowsrs exhibit both C) wreffeermee gt war @rmfian et
autogamy and geitonogamy T Y g 8

D) chasmogamous flowers never D) 3w qtmoft =t oft Tmfirar =5
exhibit autogamy T auita

B : ﬁ Page No. 3 : 5CEB
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4. One of the ex sjty construction methods

for endangered species is
A) Wild life sanctuaries
B) Biosphere reserves

- C) Cryopreservation

D) National park

5. IUCN stands for

A) International Union for Nature and
Natural Resources

B) International Union for
Conservation of Nature and
. Natural Resources

C) International Union for
Conservation of Natural
Resources

D) international Union for
Conservation of Nature

6. Capacity of a plant cell to give rise to
whole plant body is known as

A) Reproduction
B) Budding

C) Totipotency"
D) Regeneration

S AT

4. 9T St % R ex sity Fitor ggfiy @

A) FS(E IvEReg

L

mvﬂmu_@mnﬂz
C) waf=dym
D) o sam

5. IUCN % 7w & i

A) STEE IR i S S |
feeiredam

B) SRS GFRA B ST SR R
e = R |

C) STETHS IR B Sty a1s
e g
D) SewiTRe qFRM R S o
EE L
6. T %I F wwe S wget O ¥y
H v € 3 e &
A) T i
B) &
C) Afeurd=dt
D) i

hﬂmﬂm No. ag 5CEB
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7. A population has more than 50% in post
reproductive age group; according to
You such population is

A) stable
B) declining
C) increasing

D) showing biotic potential
8. ADA deficiency can be permanently
" curedby

A) Bone marrow transplantation
during infancy

B) Enzyme replacement therapy at
the age of five

C) The infusion of genetically
engineered lymphocytes

D) The introduction of the ADA-
producing gene into the
embryonic stem cells

- Restriction endonuclease breaks bond
between the
A) Base pairs of DNA molecule

B) Sugar-phosphate backbone of
nucleic acid

C) Exons and introns in cistron

- D) N-glycosidic bond between sugar
and base

Visit CollegeDekho

7. TF AETE % 50% SOvE | W o &
TG <hT T ¥ B; INTGH ITIER TH THR
) s @

A) feér

B) SemaTe
C) et
D) Sife= &9ar ) Renawh

8. ADA <t =[TeT %! 35% TR YIvEd w9
3 o s wwAT R |

A) FEYT H TS % TR R

B) Ui &t ¥t 37 § Ty Wi
Faferean g

°C) TR 9 § e R
hl ATHT

_.HE ADA- 3eIre S = o1 2
hiTRTERIaTT 3 gaTi e

9. wfterg T geefies % 9 5e
drear 2 |
A) DNA 319 % auR s

B) R wftre i sih-wichz dg 6
Bl

C) Reh # vl st 3
D) =i aen 3 § - s

Tsnm zo.ﬂ
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10. Select the wrong statement.

3 ._OE u_..mmmzw day crop plants are
entirely different from their wild
ancestors

B) Almost all our present day crops
are the result of selections carried
out by the prehistoric human beings

C) Seeds and piant samples of only
geneticaliy superior and cultivated
Species are introduced from one
country to another

D) Genetic diversity of our crop plants
must be conserved

11. Match the following :

- Columni Column i
a. Gause p. Resource
partitioning
b. Connell q. Exclusion
. principle
c. Mac Arthur r. Competitive

release

d. Verhaust-Pear| s, Logistic growth
curve

A) a-q, b-p, c-s, d-r
B) a-r, b-p, c-s, d-q
C) a-q,b-r,c-p, d-s
D) a-r,b-s, c-q,d-p

10. 9 & e o g |

A) TR FaUE R F wue DY 3
STt gefeit @ e srem §
B) =M it TR S R ¥ wwa

STARYETRI: Wi &v Y R et
TR € :

C) a1 Hfie: w7 ¥ 33 oy aeft oy
STHETet w3 sfer ol R ¥ ue
T T 3@ R v s
SICE

D) T wae Wl i i
! Tl fha s e

1. T el

wwi ww i

. wem R
q. SiewR Rgig
r. SRt fesfer
s. IR gy T

a. M3y

b. FF

c. A% Iefy
d. sefsee-ud
2 a-q, b-p, c-s, d-r
B) a-r,b-p,c-s,d-q
C) a-q,b-r,c-p, d-s

D) a-r, b-s, c-q,d-p

—
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12. The Imaﬂ.ém_:cm«m principle explains
that the speciation is due to

A) Morphological changes
B) Chromosomal changes
C) Gene frequency changes

D) >B:.=mn characters

13. Multiple alleles are characterized by, -

A) ‘more than: two alternate forms of
genes found at different locj

B) more than two alternate forms of
genes found on same logj

C) one gene occurs in two
chromosomes

D) none of these

1. Which of the following is a mis-matching
pair of the disease and medicine ?

A) Emphysema - _-m.zﬁ_wumm_._
B) Cancer - Alpha interferon
C) Blood clot - Streptokinase

D) AIDS - Penicillin

([ Page No..7])

l

12. Tl-fimant e s @ 5 Sy €

78 ?

A) TTTTE Temg

B) WIS seem
C) sta smgfies seam
D) siftnreta sof

13. sgarft Tferet % waror 39w WA
T §

A) %%mﬁﬂﬂ@&@ﬂ@ﬂ
CLotcibe it

B) @& & vt # e et 3§ st
et S

C) & 57 3 Fmisiim % yam ¢

D) 379 @ 9% e

14, ﬂm@ﬂuﬁ?ﬁ%@ﬂ_iﬂ%ﬂf
A) TR — | TARMR
B) HHT ~ 37T T20h0n

C) G 1 o — Ry |
D) AIDS — 3=y
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15. Identify the right pair of the extinct animal 15, mﬂﬂﬁ@mﬁﬁ#m«mﬁﬁ%&wﬂ%_
with their country,
wrrfor 3w
Animal Country
A) SISt . TG
A) Dodo " Russia -
B) et e
B) Thylacine Australia )
; C) == arifEa
C) Quagga Mauritius

D) el ™ ST
D) Stellar Sea Cow Africa ) m,_.mm.

16. Diversity of which of the following given 16. Frfeaiem # @ form v  fafdear

groups are maximum ? IfereRe & 7
A) Fishes | A) T
B) Algae B) fiara
C) Fungi _ C) %
D) Amphibians D) 3R

17. The oceanic carbon reservoir constitutes

17. O3 F1EH S =5 TS FETR |
A) 49% .
x A) 49%
B) 71%
B) 71%
C) 50%
C) 50%
D) 79%
D) 79%
ﬁ Page No. 8 Q 5CEB
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18. More recombinants types are formed 18. 31t Q- 4a e yrr s € oy
when

A) the genes are located very near to A) S S % U et & e o

another on chromosome B) sft7 e # w WA R R

B) the genes located far away from

one another on chromosome C) SHIRAT et 7 drar 2
C) the crossing over is very less D) 1 Y- ¥ e v 2

D)ithe genes are located only on

Y-chromosome

'9. Identify the correct combination showing 19. T W9E I 37 Heifd yRew, wdatd

the blood group with their respective Sftersa 3t sy =her & ame R sy
m:mu.mzm.am:umc. antibody genotype e . |
and special character. :
Biood’" Antigen . Antibody - Genotype "Special W vt @aid Rrewe o
Group present/ Character i ﬁm.m m.mmxﬂﬂﬂa G IEE |
Sugar
. s A A B b AR T
Vo A B b A 1B Most A
common s . b Carg
type
; BB
) A a 1B18  Found only D08 A = il MMMW_MM
_ In India
I AB TR s il Aes C) AB AorB HETH |AP wivarfies
dominance ;
D O Altaf.. a 1010 wrhitrs »
" O Neither Botha |90 Universal Byt Wb G|
AnorB andb donor

hvnum No. 9 w | | 5CEB
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20, Identify the mis-matched one.
A) CUU - Leucine
B) GGU - Glycine
C) GCU - Alanine
D) GAA - Valine

21. Selectthe correct statement.

A) Acetobacter aciti produce citrig
acid

B) Saccharomyces cerevisiae is used
as clot buster

C) Penicillium notatum restricts the
growth of staphylococgi

D) Methenogens are found in aerobic
conditions

22. Read the statements and identify the
" right option.

Statement!: Human liverfluke

. depends on two *
intermediate hosts they

are snail and fish.

Statement Il: The life cycle of

Endoparasites are very
simple because of their
extreme specialization.

A) Statement|and || are correct
B) Statement|and Il are incorrect

C) Statement | is correctand Il is
incorrect

D) Statement I is incorrect andlilis
Correct

20. T A M A | m“
A) CUU - Leucine !
B) GGU - Glycine
C) GCU - Alanine i
D) GAA - Valine __

21. W A g | k

ik L —
T _

i
[
W

B) aﬂwﬂ@ﬁ%m@wﬂ_ﬁ%ﬁ_.m
TR F w7 iy a2 _

C) ¥R w Sfciien 41 g
) SR e 2 |
D) %&@mﬁwﬂaﬁmﬁa&m

mm.ﬂﬁﬂﬂ%ﬂﬂ%mﬂﬂ%‘

FETN: T T AR A v iy
3R Tt Ao v fsk wd |

Rl E g S R ——
@&aﬁﬂa#ﬁmﬂmﬁ%

T E |
A) ﬂﬁ_ﬂﬁh_m@, |
B) %7 | e )l ey . |
C) o | W&, Il Terey . |
D) =97 | 7w, Il wdh |

T..mum No. .:J 5CEB _
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23. In the DNA moleculé

A) the proportion of adenine in relation
to thymine varies with the organism

B) there are two strands which run
antiparaliel one in 5' - @' direction
and other in & — 5' direction

C) the total amount of purine
nucleotides and Pyrimidine
nucleotides is not always equal

D) there are two strands which run
parallel in the 5! — &' direction

24. Which one of'the following 'is wrongly
matched ? ;

A) Transcription - Writing information
from DNA to tRNA

B) Translation — Using informatian in
MRNA to make protein

C) mm...uqmmm.oa protein — Binds to
operator to stop enzyme m_._.:ﬁmua

D) Operon - Structural genes,
operator and regulator

23. DNA a0 3

A) 8% % geiey 3 o 57 s ot &
Y ST war @

B) & R 90 5' 5 3 o R F i
e & > 5' R il A 3

C) =R FfRweren ik yrifem
b (BRI e TR OB B s——
T weht

D) 3 et €51t 5 5 & R & gamim
e

24. AT wadg 2 7

A) sfoeie - DNA¥ tRNA % gamraii =)
e

-

B) TR — mANA & gemnei 51 3pipy
FH N AT

. C) TTsal id — Gomew wveyw ) ey
¥ 1T st 3 wivey

D) sﬁaﬂrﬁ.ﬂuﬁﬂﬁ%qﬂ.ﬂﬂ%
s
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25. Select the incorrect statement. mm..

A) Hybrid seeds must be produced
every year to obtain maximum
advantages of heterosis

B) Heterosis is lost by inbreeding

C) Apure-line is the progeny of a large
number of heterozygous self
pollinated plants

D) Genetic diversity is being or is
likely to be used in the
improvement of domesticated
plants e .

26.
26. One of the agricultural practices of

breeding and raising livestock is
called

A) Veterinary science

B) Dairy farm management

C) Cross breeding

Q. Animal husbandry

Tummm No. J_m|_

A R

T 8 T o g |

A) BT @1 stimaT Wy T w5 ¥
o & ad g9 i = seer Be
. AT =TT

B) ®eURW oty g0 W 8wy @

C) & Y& T sel9T8 St gt
I T It v f 5o 2

D) swgaifives farferera 2 wrerq dheft 3 qum
o I B ) T 2

S gl aypadt =81 wor S dror widn .
1 HEd
A) wyifafeear g

B) TireTe ST
C) UR W

D) wftr iy :

5CEB
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27. Mule is a Cross breed obtained by
crossing .

A) male horse and female zebra
B) male donkey and female zebra
C) male horse and female donkey

D) male donkey and female horse

-28. Identify*two rice varieties used to

develop semi dwarf variety of rice
A) IR-8 m.._n_. Taichung nalive-1
B) Sonalika and Kalyan'Sona
.O.V Jaya and Ratna
D) ._Am?m: Sona and Jaya
8. Which one of the statements regarding
asexual reproduction s false ?

A) Offsprings are similar to their
parents

B) Reduction division takes place
during asexual reproduction

C) Offspring do not show variation

D) Zygote formation does not take
place

27 G O T & e R, et o fy g
A) et 3fit Trer Sfg
B) a1 3R =t e
C) =z ikt mefy
D) e ik st

28. &mﬁm#.ﬂ&%@i ard S arEe |

T 8

A) IR-8 3R 3 Afeg.1
[ ——
C) wr 3k T
D) e ghr it s
29, ﬂm@%ﬁﬁﬂi@ﬂﬁﬁ%@mﬁ
HwCe?
b waf wrar-fran e g 2

Esﬁuﬂﬂw&ﬁuﬂumﬁu
BT e \

C) Haftr % ¢ v et gy
D) Tt 7 el

SCEB
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B AOA |
30. Match the Column | with Column il and 30. @Y _mﬁzm@ﬂﬂﬂmﬂgﬁmﬂ%“
select the correct option from the choice
La O wwl w I
Column| Column I a. Vel i i
a. voﬁwmacQozw i. Commeling b ERR ii. =g
b. U__omnmocm ii. Grass

c. FrrTg i, @
d. sNffRg iv. frem
a b ¢ n.

a b ¢ g A) (v (i) () i) |

¢. Cleistogamous i, Date paim

d. Apomixis iv. Citrus

A) () (i) () i) B) (V) Gii) (i) (g

B) (v) (i) ()0 O h ) i

A U RO D) @) () () i)
D) (i) (v) () i .

31. el Sitet 3 1DNA Sadm e ?
31. IDNA is produced by joining

_
A) one mRNA with a DNA segment A) T mRNA ¥ a9 w DNA dfe !

B) one mRNA with plasmid DNA B) TF mRNA ¥ a1 wnfare DNA i

C) ¥ RANA Tirwpeg |

D) one mRNA with a polypeptide . |
D) @ mRNA % Tmy T Uidiiere

_ Page No. 14 _ 5CEB
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A) extra chromosomal, self replicating,
double stranded, linear DNA of
bacteria

B) chromosomal, self ..mu:nw:_._m
double stranded, circular DNA of
bacteria

C) extra nuclear, self replicating,
double stranded, circular DNA of
bacteria

D) nuclear, self replicating, double

stranded, circular DNA of bacteria

33. Find out correct statement about Bt toxin

A) Btioxin exists as an active compound
in the Bacillus

B) Bttoxin is produced by cotton plant
to kill pest

C) The activated toxin enters into
ovaries of the pest and the pest
Kkilled

D) The inactivated prototoxin gets
converted into active form in the
insect gut and kills the insect

-

34. Elution means
A) cutting and mx:m%@: of DNA
bands from the agarose gel
B) separation of DNA fragments on
agarose gel
C) makingthe DNA fragmients visible
when exposed to UV light

D) isolating a desired'gene from DNA

of an organism

32, wftrE T

A) it SIS, T Y, g
wids, aEdfEn #1 Raw DNA

B) %&%ﬁﬂﬁﬂ@w@aﬁﬂﬂwﬁ
SATEFARET ST MR DNA

C) aftres =T, = Yersfen, gm
WIee, AT F1 AT DNA

D) =R, @ femfe, g wits,
STHITET W1 MeAThR DNA

33. Bt 2t & frEm & et w7

A) Bt zifaae framhier Aiftes ¥ wa 3 i
e ward

B) Bt iR &y@ & uiul g dhiEt 9
T & fore Ienfea R s @

C) e % ewm § Brmshie iR Ay
& & R i T S}

D) framfen MerifRm framiter ifRm
% 7 ¥ Fed W Hie F o7 i =
AT &

+

34. & 1 AT &
A) 3™ ST A DNA 378 1 S1e1 a9

B) 3R et & SW DNA & g%t =t
fEucsicrc) SRR

C) LV ol & DNA % g8 sm1 Tor
T

D) Sfla %1 DNA gT0 & =ifsa s =)
ST BT

o
e —
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35. One of the ﬁo__o_&_:u supports declining 35. fimfafaafidus mﬁm._&w,,?dmm%_ &G

Visit CollegeDekho

phase of a population T T R |
A) Mortality > natality A) TIH > TR
B) Natality > mortality B) S=T&X > Yeget
C) Mortality = natality C) IR = T

Uv zm.__.m:a — -.-.-Q—.nm.___..—w. =0 UV et |.ﬂﬂm-mﬁ ﬂ.D

36. The restriction site Enou:_nma by

enzyme EcoRl is 36. TSEH EcoR| 3R Yg9mT T4 Wiiey wEe §

_
|
A) CCGGGC & Ceetias |
r
B) CTGCAC e RaGAC _
C) GAATTC
C) GAATTC
D) AAGCTT
D) AAGCTT

37. T 4 Torem Titem wet i R 7
37. Which one of the following is not

correctly matched ? A) maw m
] B) werfn R Gtk
A) Dengue Aedes mosquito
. C) sifafemitm  wffgxt
B) Malaria Female Anopheles ) |
C) Amoebiasis Houseflies D) 4R, i

D) Ri Droplet
) ioaworn  Oropists 38, et 3 & 2 w1 e T et &

T A AR & 2Hw E o
.mm Which of the following enzymes is not e _.
roduced by E.coli during lactose
wms_uo_aaw E A) p- ez
A) B-galactosidase B) Trerwiids giadberes
B) Galactoside n_,m_._mmmma.._mmm €) ﬁmﬁﬂﬁaﬂ@ﬁ
C)' Carbonic anhydrase D) SR v
D) Lactose permease _
. hﬁmum No. 16 y 5CEB
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39. According to  HGP, the longest gene
consists of

A) 3, 164, 7 million base pairs
B) 3000 base pairs

C) 2968 base pairs

D) 2.4 million base pairs

40. In Mung bean, resistance to yellow
. mosaic virus and powdery mildew were
induced and developed by

A) Mutation breeding
B) Hybridization
-C)  Polyploidy breeding

D) Recombinant DNA technology
method

41. Which of the following is not a sexually
transmitted disease ?

A) Acquired immune deficiency
‘syndrome

B): Trichomiasis
C) Syphilis
D) Tetanus

42. Inthe womb of the mother the first heart
sound of the foetus can be heard by
Stethoscope at

A).First month of pregnancy
B). Third month of pregnancy
C) Fifth month of pregnancy
D)’ Sixth month of pregnancy

39. HGP ¥ Irgam w=@ w3 37 § aw w12
. e &

A) 3, 164, 7 faftas

B) 3000

C) 2968

D) 2.4 e

40. &%m.&@&%ﬂﬂﬂ%ﬁﬂﬁﬂﬁ
%+ wfediy =it T 3w afk
ol B 2

A) IiEdT S

B) "o

C) giciieensSt o

D) T: 59w e denfe ffy

41, T W T A IR 7
A) TR T bR fign
B) daimi
.C) fufteferg
D) ¢TT\
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TR FR e G w1 Tl 2 7
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43. Read the statements and identify the

right option.

Statement | :

Statement li :

Mild wcmﬂm_. ejection
reflex is induced by
placenta.

Foetal ejection refiex
triggers the release of
oxytocin from the
ovary.

A) Statement!and !l are correct

B) Statement!and i are incorrect

C) Statement | is correct and Il is

incorrect

Correct

-

D) Statement | is incorrect and Il is

44. Identify the incorrect statement
pertaining to contraceptives from the

following.

A) Most widely accepted methods of
contraception in India is Intra
uterine devices

B) Surgical intervention biocks
gamete transport and thereby
prevent conception

C) Pills inhibit ovulation and
implantation as well as alter the
quality of cervical mucus and
retard the entry of sperms

D) IUDs are useful only before the

coitus

AR 0

am.ﬂimwamﬂ,ﬁﬂwyﬂ%_
TN TS YO o yRiad Hy
et grT Sfw R s 2

TN O S RedT stem
R TR it foerd a7 fom
w2

A) T | o 1) w2
B) #F | g9 Il vea @
C) Fo | wedt, = Il ere 2

D) =1 | Terer, o | wet R

44, Trerferea § & i dath 5 gt arg

TR 7

A) IR TIEETET 39T R 3
TR & v W s wv @
AT ST @ |

B) wiEw o mfurwr 1 9w § g
Ve S8y sraeg w2

C) Tferat fasiieastt 3 amivor ¥ -
e iR e 3 e S e )
e 3t & ol gt e o e

D) 1UD weama & i &t 3ugea g

htu.am No. dﬂ 5CEB

"\/isit CollegeDekho

- =t



https://www.collegedekho.com/?utm_source=resource&utm_medium=footer&utm_campaign=hyperlink

G B

45. The regression co-efficient for
frugivorous birds in tropical forests of
different continents is

A) 0.1
B) 1.5
C) 1.15

D) 1.75

46. Which of the following is not an example
for degenerate codon ?

A) Leucine
B) Alaniné
9 Tryptophan
D) n...__...&:m

47. Which of the following is not a
characteristic of Drosophila
melanogaster ? :

A) They are dioecious flies

B) The genes studied by Morgan
found on different chromosomes

C) They show many types of heredity
variations

D) They complete their life cycle in
about two weeks

45. e T 35 oo el s
S s o s i
A) 0.1
B) 1.5
C) 1.15
D) 1.75
46. 7 & P a1 o e 3 o s
Y

A) TfRA

B) T

C) Rrm
7 - D) e

47, T A W W ST ST
& TET 8 7 |
A) 2 SRR nfReat §

B) =TT S0 rewem e T S arem
3TCRT shidtsinT § q7q Mo #

C) & ST 3 wwiad @z &

D) ¥ 3 vl § ¥ o7 SfteT = 9
T F
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48. Read the statements and identify the
right option :

Statement!: Due to continental drift
pouched mammals of
Australia survived.

Statementil: South America joined
North America due to
continental drift.

A) Statement | and Il are correct
B) Statement ! and Il are incorrect

C) Statement |is correctand Il is
incorrect

D) Statement lis incorrect and Il is
correct

49. ldentify the mis-matched one.

- A) Australopithecus — hunted with
stone weapons

B) Homo habilis — brain capacity 650 cc
C) Homo erectus — ate meat

D) Modern man arose — 10 thousand
years back

50. Which of the following contains only
bacterial disease ?

A) Cholera, Typhoid, Pneumonia
B) Malaria, AIDS, Cholera

C) Typhoid, Tuberculosis, Influenza

D) Diabetes, Malaria, Syphilis

48. FHeET Y TG wet Rrerea i | . ,
HUA : FHitreest T892 F FROT
afeferan % fem gam
IR &9 T |

e I Sfiqor amfEnT, IR smfE
F g Fiferes e &
T ST |

A) T | w9t Nl T
B) o | qu || Tera
C) F¢H | &t a9 F4+ |l 7o
D) +¥H | Tieia e Y | a8

49. 0 = TE=IC |
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Bl
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